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1. Ferm a polynomial {with smallest degree possible) with the given information.

Zeros: -4 multiplicity 1, -3 multiplicity 3 and goes through the point (-2, 8).
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3. Find a possible formula for the graph below.
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4. Use knowledge of transformations to write an equation of the graph below.

flx) =

5. State the domain, horizontal asymptote(s), and vertical asymptote(s) of h{x).
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1. Maich the pelynomial to the graph by writing the corresponding letter beneath the graph.
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2. Analyze g{x}, as indicated below. Ciearly label & respond to each step {a-e).
glx) = x*(x — 2)(x + 2)

Determine the end behavior of the graph.

. Find the x- and y- intercepts of the graph of the function.

¢. Determine the zeros and their multiplicities. State whether the graph crosses or touches at
each zero.

d. Determine the maximum number of turning points on the graph of the function.

e. Sketch the graph of the function.
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3. Analyze R{x}, as indicated below. Clearly label & respond to each step {a-f}.

(x+2)(x—-1)
(x —4)(x+1)

Rx) =

State the domain,

State the x- and y-intercepts of the graph.

Find the vertical and horizontal asymptotes.

Find the zeros, their multiplicities, and behavior {touch or cross).
Determine intervals where the graph is above or helow the x-axis.
Graph R{x).
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